Cor posstes Lesson |4

oAl AN

Y. b- l:hjmefr.r\j Canstonts for o Laminate 3, 2
A - §)v\j|(,lpggrecl W —

By = d )N = 4 Sin@

e m-r( lZJ)V\m.l--CZ—Y\H fRiE i ’

Gip {E‘} P [51{5}
1 e X’( onl 40 angl others ave Zero - ;a
cOS ] e
E,

7( — - onj ('71 Fo ond athers ave Zfo - Slé
> 7 7 Ste



b /V\uli;.'-l@'freo, Loxminates 1 14

_ J_[H/z R %
G’: 6‘ 2_ 6—/’ f .- ‘\'/ —
’ o )0l s,z 5T, =l p
H _H/z J Y J 2 ?] ﬁ "Z:;gjoh: Ox
=3 ’H/z
5 . L N 5. Llw z
wy ot Sy J ° Cay = J{I N"j

{0} - fo{e] Loy S92 4y ot o> (o () ()
(e A viey

Effective Complignce motVid for o
Lawinate

E; l A, H 0\,1 | ] 6/;1
;]’ E z 0‘|‘LH O\L'LH ) ]2\ 0?]
nj o o D\QQH %;J






Y. 7. Termad el Mechanical Stress Ano\I]s)s

[ &Ps_ff
— S—r e.et s

t
PRV IV ARV

redu.nrlamr Stvain

5 k:Cockficient of Thermal fvt}”anso
t
0, = Ex (E-¢7) (7€)
f t
(63 - C<) ({e)-18) , §6) = {1dot
we have.‘

For arﬂ\eimp.c oterinds  in f'ran '0 le ortkotro)?] olirecf.‘an

4 {1} 7
20‘; gz RICI {@é

I/'L(?Q”J




&0, 04
= [O‘] iil—ulbf

Y11
E — ok ot
i [Q] i _ oy “at
Tﬂj X‘"j O(“JOt' /

() = E‘ﬂiia} + (QILHY - iﬁvf i

11\/5%} ZJ (Qj °‘3

g
fgfolz 2: (@) 44, ot (-2 )
g
my - Ee]{z Do]<!<} {m}

{
% Z‘_f[elk ?Atc,f)_ Z (d {at}af/z Z ;)

2
Xt

Yy

2
&



- R
(7 {3+ o
(R = )+ (T

6%
0%

Ty

- (af, ({zj»r 2] - (£ at)

K




Esoraple &= Find the residlund stress in the emw/ole‘[.‘rkc
z O\M} .

oC .
[avminate is 125 O\VW( s
P"Mlllcinj lLﬁrV‘/?Yebwe OzL H\P aAmin

o C
iCo t] s 25
ofplica tian tEM/'retU(e /S

o M~ T Z‘rf Ly |
4S5 3 0 =
e
F -6 |
ol .
{:((;(é jitzgigig Xlo 0
(an oo

_6
dl_';)(lo léc

-6’
- lo
o(L, 23 X 4_
Ot-25_-125=z -lop



-5 6, _
[a), 44}, ot= 4 _;’,09} 53

(2]

-10.35 -3
(), (4] b= ]-1035 [0
Ys® ys® _5.26
T~ —1560) ~10.35
{N}JC: L [@jk{oa}k Dt (2k-2,,) - }—5.o7jxlo5[aﬂ,(-;8 i 0 35ro &)
| o _S5.2%
-109.\ -3 GN — e ’(’L'j
={-56.5 %X\o L
~\5.73 m

t ’ -5 6
$M§; [Wy(z,f,zk_,) { 509]/10 3 [otod]
l0.35 4
,\3 35%]0 ,(1/[( U (-LUJ { ;99 qfsf >2 5

+

-5.62 39.45 | GNZX
m



— L t

(Y= {miafm} = {of+ {m /

{-”: [AIsT)E £, @L'@j o
7 B 1D l<}’> ]<ﬂ}/ 2. 1 {F«}
Ese 20, K .

G (g

. Ko. |~ [~2-55

For :C;nbl.‘nj Stresses jn €ach |ayer We have:

R t ($x+2k
() _gz}-ge},%gjﬁ;k;z—@ﬁg
yq}_f?:Ku-] O(n] ot



103, - [als 4 €] §

R 36 +90.58
¢ R _13+40.5%2 _q | Ex )636+ > z( _y
s R _-J 9.9 1.0 2 Xlo 3 ¢ R | - \-52_1.oF |\l
JR 2 xJ R
Y R 6.99_ 2.35 Y ise |-9.01-2.352
):ar oo_lajff'. ;
o o- Ay -
ea Ao, [ 2SS Sa
Sy 0-7 _2.u

- -1.72) -
Z=-\ {G’}O: o 3 { 3.8 %ch\ G/\:mz
for d5- layers

~1.05
-3
Z‘.C—\ {(Y}L‘S = {:i-b;:j?(\n GA//.W'Z

-q.17 -3 N
Z:-L" 6 = 3 0. FI i X‘“ 2
ﬁ }"5° ~0.75 ~



